
 kPbwd; guk;gy; 

 tFg;ghapil cs;s kPbwd; guk;gy; $l;lkhf;fg;gl;l kPbwd; guk;gy; vdg;gLk;. 
 $Ljyhd kPbwidf; nfhz;l tFg;ghapil Mfhu tFg;G vdg;gLk;. 
 xU tFg;ghapilapy; (Nky; vy;iy – fPo; vy;iy) + 1 ,d; gUkd; tFg;ghapil 

gUkd; MFk;. 
   c – k; :  

tFg;ghapil 
kPbwd; 

(vz;zpf;if) 
1  - 10 3 
11 - 20 5 
21 – 30 15 
31 – 40 3 
41 - 50 4 

 ,q;F Mfhu tFg;G 15 <l;Lf;fisf; nfhz;l tFg;G 21 – 30 MFk;. 
     tFg;ghapil gUkd; vd;gJ> 1 – 10 ,id vLj;Jf; nfhs;Nthkhapd; 
     1 – fPo; vy;iy> 10 – Nky; vy;iy 
    / (Nky;. v. – fPo;.v.) +1 
     (10 – 1) + 1 
       9 + 1 = 10 
  gapw;rp I 

tFg;ghapil 
kPbwd; 

(vz;zpf;if) 
8  - 16 3 
17 - 25 7 
26 – 34 12 
35 – 43 10 

I  Mfhu tFg;G ahJ? 
II tFg;ghapil gUkd; ahJ?   

tFg;ghapilapd; eLg;ngWkhdk; 
 tFg;ghapilapy; (fPo; vy;iy + Nky; vy;iy) %yk; eLg;ngWkhdk; ngwg;gLk;. 

  2 
     c – k; : 20 – 30 ,d; eLg;ngWkhdk; 

   
20+30

2
=

50

2
= 25  

 

  gapw;rp II 
    gpd;tUk; $l;lkhf;fpa kPbwd; guk;gy;fspd; eLg;ngWkhdj;ijf; fhz;f. 

muprp vil eLg;ngWkhdk; kPbwd; 
120 - 125 122.5 6 
125 – 130 …. 3 
130 – 135 …. 7 
135 – 140 …. 15 
140 – 145 …. 6 
145 – 150 …. 3 
150 - 155 …. 8 

Gs;spfs; eLg;ngWkhdk; kPbwd; 
0 – 10 5 2 
20 – 30 …. 3 
30 – 40 …. 5 
40 - 50 …. 7 
50 – 60 …. 6 
60 – 70 …. 10 
70 - 80 …. 15 

khfhzf; fy;tpj; jpizf;fsk; rgufKt 

thuhe;jghlrhiy 

 fzpjk; 

juk; 10 J. Nahfuj;dk; - rhe;j kupahs; j. k.tp. 

thuk; 03 



 fzpjg; ghlE}ypd; 26.1 gapw;rpia nra;aTk;. 
 

 
eLg;ngWkhdj;ijf; nfhz;L ,il fzpj;jy; 

 
 ehd;F epuy;fisf; nfhz;l ml;ltiz gad;gLj;jg;gLk;.  
 epuy; 1 – tFg;ghapil gpujpaplg;gl Ntz;Lk; 
 epuy; 2 – eLg;ngWkhdk; fhzg;gl;L gpujpaplg;gl Ntz;Lk; (𝒙) 
 epuy; 3 – kPbwd; gpujpaplg;gl Ntz;Lk; (f) 
 epuy; 4 – eLg;ngWkhdk; X kPbwd; (𝒙 X f )   

 

 ,il=
Σ𝑓𝑥

Σ𝑓
 

 
450

20
= 22.5 

 

gapw;rp III 

 

 gpd;tUk; ml;ltizapd; ,ilntspfis epug;gp ,iliaf; fzpf;f. 
 

,il=
Σ𝑓𝑥

Σ𝑓
 = ……………… =  ……………. Gs;spfs; 

 xU filapy; 40 ehl;fspy; tpw;gid nra;ag;gl;l muprpapd; epiw 

,il=
Σ𝑓𝑥

Σ𝑓
 = ……………… =  ……………. kg  

 

 fzpjg; ghlE}ypd; 26.2 gapw;rpia nra;aTk;. 
 

 

 

tFg;ghapil eLg;ngWkhdk;(𝒙) kPbwd;(𝒇) (𝒇 × 𝒙) 
00 - 10 5 3 15 
10 - 20 15 5 75 
20 - 30 25 7 175 
30 - 40 35 4 140 
40 - 50 45 1 45 

 𝚺𝒇 = 𝟐𝟎 𝚺𝒇𝒙 = 𝟒𝟓𝟎 

Gs;sp Mapil eLg;ngWkhdk;(𝒙) kPbwd;(𝒇) (𝒇 × 𝒙) 
4 - 8 6 3 18 
8 - 12 …. 7 …. 
12 - 16 …. 15 …. 
16 - 20 …. 11 …. 
20 - 24 …. 4 …. 

 𝚺𝒇 = 𝟒𝟎 𝚺𝒇𝒙 = ⋯ 

muprpapd; epiw kg eLg;ngWkhdk;(𝒙) kPbwd;(𝒇) (𝒇 × 𝒙) 
0 - 25 12.5 8 100.00 
25 - 50 …. 4 …. 
50 - 75 …. 12 …. 
75 - 100 …. 10 …. 
100 - 125 …. 6 …. 

 𝚺𝒇 = 𝟒𝟎 𝚺𝒇𝒙 = ⋯ 


